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1 A bag contains 9 blue marbles and 3 red marbles. One marble is chosen at random from the bag. If
this marble is blue, it is replaced back into the bag. If this marble is red, it is not returned to the bag. A
second marble is now chosen at random from the bag.

(a) Find the probability that both the marbles chosen are red. [1]

(b) Find the probability that the first marble chosen is blue given that the second marble chosen is red.
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The times taken, in minutes, by 150 students to complete a puzzle are summarised in the table.

Timetaken | 20 | 50 </<30(30<7<35|35<¢<40 40<r<50|50<¢<70
(¢ minutes)
Frequency 8 23 35 52 20 12
Class widin 0 10 3 g 10 RO
u«? 2 _ b 20 _ 2_o0.%
’;l" . —8-=0-‘I 2-_3"12.3 ..3_.-;:?_ %—-:,DL) _'-0--2. b1
m15 20 10 [ . ﬁyﬂw
FTmmud ﬁwlg =_"Y
C [a8 Widi

(a) Draw a histogram to represent this information.
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(b) Calculate an estimate for the mean time for these students to complete the puzzle. (3]
........ Time Tawen: | MAponl | Pt | T X2 ol
......... 08e220 1.1 L B LB

WL EL30 | 2 A3 575
......... Jogt B oS LLBS  LIBTE
35&tho| 3¢ £2, 1950
hogteso| 4Ys 20 q00
cog t £70[ 4O 12 720
2f=150 Zft=t3La-<
.................................... Mean. Lime (£). = 53628 .
0]
OSSOSO - L 2SN -2
(¢) In which class interval does the lower quartile of the times lie? [1]
Timgtaken 0<1<20 [20<7t<30 30<7<35|35<¢<40/40<t<50[50<t<70
(¢ minutes)
Frequency 23 35 52 20 12
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Anil is taking part in a tournament. In each game in this tournament, players are awarded 2 points for
a win, 1 point for a draw and 0 points for a loss. For each of Anil’s games, the probabilities that he will
win, draw or lose are 0.5, 0.3 and 0.2 respectively. The results of the games are all independent of each
other.

The random variable X is the total number of points that Anil scores in his first 3 games in the
tournament.

(a) Show that P(X=2)=0.114 , 2]
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[3]
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A new village social club has 10 members of whom 6 are men and 4 are women. The club committee
will consist of 5 members.

(a) In how many ways can the committee of 5 members be chosen if it must include at least 2 men and

at least 1 woman? 4]
possibilitiea:. ... Commitiee.of .5 MOMBRS. ..............oooe
.......................... MENLE). ... WOMENCH) .o

The 10 members of the club stand in a line for a photograph.

(b) How many different arrangements are there of the 10 members if all the men stand together and all

the women stand together? /—\ [2]
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For a second photograph, the members stand in two rows, with 6 on the back row and 4 on the front
row. Olly and his sister Petra are two of the members of the club

(c) How many different arrangements are there of the 10 members in which Olly and Petra stand next
to each other on the front row?

[4]
............................................................ /3 %ei'mlbzmnganlfvm?cslawsm ’tjf

qeoee TR

....................................................... P d:rapzﬂafy ore. lsz-

............................................................................................. Out ..q}'ulvcha Sou. dnre.be filled.
( This Con be iritlen & 8x7-)




www.mathtonic.com Meen = 22 +ZY
A summary of 20 values of x gives n’ + '12_#

2 (x—30) = 439, > (x—30)2 = 12405
A summary of another 25 values of x gives
> (x—30) = 470, > (x—30)% = 11346.
(a) Find the mean of all 45 values of x. [2]
.......Ev.r.....g.ummarg...af.z{)...ym...s ............................................... N=R0...
................................................... 2<Z—BCD=1}‘3‘?

................................................. 2.2 .=429+30n.=439+.30(20)..=.1039

....................................................... Z.7.=. 101300 = 430+30(25). . (320.

Mean.of.alt. 4s vadua = ... | .Q&fz._,..j...l.a&t?...m. 7 W —
5

(b) Find the standard deviation of all 45 values of x. (2]

Stondacd:. daviationt of a-30 = Stondard. deviation 0 2.
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6. The heights, in cm, of 200 adults in Barimba are summarised in the following table.
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Height (4 cm)

130 < /7 < 150

150 < /7 <160

160 </ <170

170 < h < 175

175 <h <195

Frequency

16

32

76

64

12

class wrdih

A0
.l;‘. = 0'8
2D

10
32 _3-
75,3&

10

Ho7-b
10

(a) Draw a histogram to represent this information.
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(b) The interquartile range is R cm. Show that R is not greater than 15.

_ ot
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Height (hem) | 130<Ah <150 | 150<Ah <160 | 160<h <170 | 170<h <175 | 175<h < 195
Frequency 16 32 76 64 12
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A game for two players is played using a fair 4-sided dice with sides numbered 1, 2, 3 and 4. One turn
consists of throwing the dice repeatedly up to a maximum of three times. When a 4 is obtained, no
further throws are made during that turn. A player who obtains a 4 in their turn scores 1 point.

(a) Show that the probability that a player obtains a 4 in one turn is %. [2]

(!nccesgprfgabu@@gtﬁim'hlyﬁw(@=4—1- ........................................................
............... (thryNOia‘gtmm\?\fmw(‘})-é

Xeno and Yao play this game.

(b) Find the probability that neither Xeno nor Yao score any points in their first two turns. [1]

............ Xauo
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(¢) Xeno and Yao each have three turns.

Find the probability that Xeno scores 2 more points than Yao.

............................................................................ Xno.oee YA
....... Possibilities s
............................................................................ . S A
o e B (3, 2
XN0.(2).) MAOLD)..
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@) @
S SN/ M0 1= 1 £ - S,
Xeno(®, Yas{g)e .
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Harry has three coins:
*  One coin is biased so that the probability of obtaining a head when it is thrown is %

The second coin is biased so that the probability of obtaining a head when it is thrown is %.

The third coin is biased so that the probability of obtaining a head when it is thrown is é

Harry throws the three coins. The random variable X is the number of heads that he obtains.

(a) Draw up the probability distribution table for X.

[3 nd d
....'.zcg’m..,..:.z.cm‘m ,;.%:pmr......’ ..................................
............ H LT LT [ 3%
th | T |H T | 3%
T AT IH I Fx3%e=6 | oo

T
T
s'
i

x

xX




www.mathtonic.com

Harry has two other coins, each of which is biased so that the probability of obtaining a head when it is
thrown is p. He throws all five coins at the same time. The random variable Y is the number of heads
that he obtains.

(b) Given that P(Y = 0) = 6P(Y =5), find the value of p. [3]
.................... P(H).=.. P(T)=/—
............... PLY=20). 7. RLTOTOTOTOT). e
..................... VAR, M. W51 0. AU S

No Head 2. 3
.......................................... 2 KB XL R(=P)(P)ooo
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................ O L (B —
............ PLY=5)..5 . PLROROHOHOH]. ...
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The eight digits 1, 2, 2, 3, 4, 4, 4, 5 are arranged in a line.

(a) How many different arrangements are there of these 8 digits? [1]
....................................................................... A B 2 NOS ...,
. AN /X S
............................... 823380

(b) Find the number of different arrangements of the 8 digits in which there is a 2 at the beginning, a 2

at the end and the three 4s are not all together. [4]
.Z...M...?f&@..bgmmgf ........ 2 A
ROk HECOM.......oooooeeeeeeier A
R IET, L X
S
................................................................................ .Bfourf
A4k Re. bgnw? AR OIL................coooooeeooo oo
2..all. the togetiar.". X | H 4 4 2
20. fﬂurx e/ ——
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Three digits are selected at random from the eight digits 1, 2, 2, 3, 4, 4, 4, 5.

(¢) Find the probability that the three digits are all different.

[5]
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Seva has a coin which is biased so that when it is thrown the probability of obtaining a head is % He
also has a bag containing 4 red marbles and 5 blue marbles.

Seva throws the coin. If he obtains a head, he selects one marble from the bag at random. If he obtains
a tail, he selects two marbles from the bag at random and without replacement.

(a) Find the probability that Seva selects at least one red marble. [3]
in...... Marbled..... MAPBIE2...........oooooooeeoeeeeeeeeeeee oo

(b) Find the probability that Seva obtains a head given that he selects no red marbles. [2]
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The back-to-back stem-and-leaf diagram shows the annual salaries of 19 employees at each of two
companies, Petral and Ravon.

Petral Ravon
3 0 0302 6
9 9 8 2 2 1311 5
5 5 4 0320 0 2
7 5 313/0 4 8 9
1 0,34 |1 1 3 4 6
3513
81367 9

Key: 2|31 |5 means $31200 for a Petral employee and $31 500 for a Ravon employee.

(a) Find the median and the interquartile range of the salaries of the Petral employees. [3]
................. N=.19...L0dd mumber). ...
................... for 0dd. mwmber. e
.............. So Medion. =.. [It1) ﬂ"=ﬁ1’.;—.laﬁ"m[«z

Py 2
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quartile is $34400.
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The median salary of the Ravon employees is $33 800, the lower quartile is $32000 and the upper

(b) Represent the data shown in the back-to-back stem-and-leaf diagram by a pair of box-and-whisker
plots in a single diagram.

30000

3‘ DU'O -59.0"0

employees at Petral.

(c) Comment on whether the mean or the median would be a better representation of the data fo’r’ the
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Jasmine has one $5 coin, two $2 coins and two $1 coins. She selects two of these coins at random. The
random variable X is the total value, in dollars, of these two coins.

(a) Show that P(X=7)=0..

[1]
................. . S ()2 0). 5 R(502). 00 PLROAS) i
sA "

(b) Draw up the probability distribution table for X .

[3]
............. pocsible... Xovabier 2. F., 6, My B, A

"

................ P(x:é)P(sn:Dorf(ins)
.................................................... B X B

2 hand [
.............................................. o '5;"0/
N . S 2. L3 14 | CA N -
............ P(x=2) 10:1 | 04 |01 | 0:R|0-R | .
e P(x=D=.1=(0:040:170:210:3). = .0:4.



(¢) Find the value of Var(X).
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(a) How many different arrangements are there of the 10 letters in the word REGENERATE? [1]

(b) How many different arrangements are there of the 10 letters in the word REGENERATE in which
the 4 Es are together and the 2 Rs have exactly 3 letters in between them? [4]

............. i = /

....... e RIE E EE| 4.
v v’ v' ‘“/w e
.k £ E | R R 4
R RIEE &5 &l m.
r e e el R __ R b
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(¢) Find the probability that a randomly chosen arrangement of the 10 letters in the word
REGENERATE is one in which the consonants (G, N, R, R, T) and vowels (A, E, E, E, E) alternate,
so that no two consonants are next to each other and no two vowels are next to each other. [5]
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The numbers on the faces of a fair six-sided dice are 1, 2, 2, 3, 3, 3. The random variable X is the total
score when the dice is rolled twice.

(a) Draw up the probability distribution table for X. [3]

......... X | 213 L 22 R
) ) 12.
.......... Pz |Zl|Z % ||
L 5 L 1
.............................. ... Q. A8 B H

(b) Find the value of Var(X).

.......... ECx)...a..........ézx_L)+<.3x559.f@x %@x%@x.@mm

........ EX)...= ... ;é+éz +3fig+ ;z +§r,
....... ECXJ=._/£‘.
ﬁﬁﬁﬁﬁﬁ;éi}%'ﬁ‘)ﬁﬁfﬁ"'ﬁﬁfﬁfﬁfﬁ(ﬁﬁ%}éij """ @xa)@w{&)%m)
.......... EQC).=. &+ I+‘*D+£S+c;:ozaé
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e MONL XY o B XE) (Eﬁxﬂ .............................
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(¢) Find the probability that X is even given that X > 3.

................................................................... R
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Box A4 contains 6 green balls and 3 yellow balls.
Box B contains 4 green balls and x yellow balls.
A ball is chosen at random from box A4 and placed in box B. A ball is then chosen at random from box B.

(a) Draw atree diagram to represent this information, showing the probability on each of the branches.

[4]
BoxX A . Box B
6 bireen b Gren
3 Y ellow L Yelow
Totl = 9 Totad = 411

b
! 'eﬁ; Vell cm)B
2 ;ftr? Giran,
9 Nellaw,

a+l
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The probability that both the balls chosen are the same colour is 3

15°
(b) Find the value of x. [3]
.............................. P(!M.QCDEOMY‘ :....8.._.

15
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The times taken, in seconds, by 15 members of each of two swimming clubs, the Penguins and the
Dolphins, to swim 50 metres are shown in the following table.

Penguins | 35 | 39 | 42 | 44 | 45

45

48

50 | 56 | 58 | 59 | 61 | 66 | 68 | 72

Dolphins | 36 | 41 | 43 | 48 | 49

49

50

51 | 54 | 56 | 56 | 60 | 61 | 64 | 71

(a) Draw a back-to-back stem-and-leaf diagram to represent this information, with Penguins on the

left-hand side.

Pang W ng

[4]

Dolphine

9 ¢
&5 5 4 2
9 & 4o
5 &6 ]
2

H g I W

b
13 8 99
ol b4 6564
0 1 4

I

/(73 Z/H/, maans 42, Setonds for
Pa\gw‘u and. Lty Secords for
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The diagram shows a box-and-whisker plot representing the times for the Penguins

(b) On the same diagram, draw a box-and-whisker plot to represent the times for the Dolphins

[3]
Penguins
OLph
)
30773540045 °50755° 60657075 Times ‘\\
in seconds \
Dolphin:
: o om ’
Medion = ’(ISH) 2" vokue = &1

- 1[;s+g 4" vabus = 48
- 3[151‘-/] = (2" value = €0

(c) Hence state one dlfference between the distributions of the tfrnes for the Penguins and the
Dolphins.

[1]
18 K,_Ceagww) .......................... v/
................................................................................................. 5IWALV prasetatim of
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........ [88 (Dolohin)............l.. L. S -
............................................................................................. | R V7 (LN s o S PR
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(a) How many different arrangements are there of the 9 letters in the word RECORDERS? [1]

(b) How many different arrangements are there of the 9 letters in the word RECORDERS in which
there is an E at the beginning, an E at the end and the three Rs are not all together? [3]
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The 9 letters of the word RECORDERS are divided at random into two groups: a group of 5 letters and
a group of 4 letters.

(¢) Find the probability that the three Rs are in the same group. [4]

I a———— Yo
é
............... A ATLE T DR (o
C
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Additional page

If you use the following lined page to complete the answer(s) to any question(s), the question number(s)
must be clearly shown.
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